FR2sEE B E B B

1 EERE 128,114,370,912H
N EKRBAE 100,563,178,803M
BB E 27,551,192,109H
IG=Ti_f 2t 93,437,364,926
I 1F R B 34,677,005,986 1
1 BEARBAE 100,563,178,803 M
tih 926,142.02 m 21,382,578,995 M
BY 28420450 m 59,764,518,879 M
BEY 1,446,913,662 M
HEMEASRES 19,507 = 10,785,274,906 M
EIEAKIRES 1,644 m 246,859,611 M
XZE 370,738 fit 3,669,965,616 M
ZDih 3,267,067,134 M
2 EREE 27,551,192,109 [
REESE 10,556,759,552
ZDih 16,994,432,557 [
= 128,114,370,912 M
Bi5%
1 BEaE 66,959,852,547 M
REEAE 49,228,930,000 M
Z Dk 17,730,922,547 H
2 RBAaE 26,477,512,379 A
EEHEAR 13,663,270,000
ZDith 12,814,242,379 M
8 1E % 5 93,437,364,926 M

IEOREARE ( BEREE - AEHRE) 34,677,005,986 M
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